













































































































a 21

3 41 1 U x
z l D z 11 17 Xcx 7

if xe 2,0 U 1 too
then 4 2 1 7

Lb if xe Oil
then 4 x c xcx17

Case Xe to v CI too Case XE Oi
4 x 2 1 7 4 x E Xcx 7
4 2 2 U x ex2 x

42 2 4 Ex2

2 4 2 of XE 2,23 HU Xe too 23v 2 too
ButX D 23v z too2n oil

Nowe 12,23nftoitvli.to
2,0 v CI23

The overall solution is XELE 2,0 U 1,232 v lo
yet 2,0 U 1,23

LEX 0 or l X c 2
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b 8 12 1126
12 112 2

I
Case if XE 42

12 11 e 2 12 1 2
2 12 2
2X E3
X c312 D too 312

XE iz too n C so 3123

Case if E C so z

12 11 E 2

2 1 a 2
2X El
Xs z D Et ta

XE C o k n E k id
XE 42 2

The overall solution is XE 42,3123 u 42 42
C 42,3 2

I ex c 312

a
141 e I I e

Case If XE Goo D then x H o

l e E l D l xtDz X IE Al
D X l X I 2 1
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i x l 2 1 Ii X 12 1

02 2x 022

Osx talement is
false X

Case If xe E I its their Xt O

I E I l D X le X I c Xxl

i X I EX 1 Ii X text

OE 2x 0

20Ex ed XE 0 too 2b Statement is
true

D XE 0 too n I too

XE 0 too

The overall solution is XE to a

X

a
a X2 1 0

use of b b T X z2A

D X 1215 x 5
2

Ex F x ta x II
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f gas therefore gene0

I l

guk so gkR x l x tf x II

Case XE C N II U 5

120 The shaduf is TRUE

Case XE f 5

1 0 The statement is FALSE

The overall solution is XE C so v II too

b

a flx x CkMk
GCN 2 where gCx7 x IX lik

Itmust be that gk z0 they x IX like 0

X I 1 1142 XE 1 11
Case if XE I too Case if XE C N D

Yz
Xz x l z txt 2

2 120 I 2 tell XXX 120
4 3 FEEL txt II so

XE I ta n I too XE TEI ta n s l

D XE litt XE 14 l
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The overall solution is XE I too u 9,1
XE ltd ta

c a

FG lulux thx D du ga
where gCx lex thx it s t g so

hence 4 14 2 11 o is his 14 2 11

Case for xe Case for XE to u is

x 4 2 1 his 4 2 I

4 2 thx I o O 4 2 4 1
btb k.ae

btbza
HaT

z Ta Xin

4 I 4Nz 4 R_ Xi 2

g
Xi 2

xeff o.IE ufIgEogz
i DX E 4 In to vk.to

xe City x c I e

The overall solution is xe Lta E ULI
Xe Lt Ltd
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flx I gCx xCxt2 I 2 2 thx
2t2 I 2 2 thx
0 Z X 2X

0 I x Xt

2 O XE 2

Ifthe shape ABCD is a parallelogram thenthe line

segments AB and CDmustbe parallel to each other
Furthermorethe line segments DA and Bc mustbe

parallel We know two lines are parraael if the
slopesofthe two line segments are equal

By 9 I 3
Slope MAB g g

I
Xz X 7 I 2

Slope Mars If Iz
MAB MCD

Slope Mpa 1 2
5

SlopeBc Misc If g
MDA MBC
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A Determine slopeof AB

A
MAB I

µ Determinescopeofline
perpendicular to AB

1 MAB M 3X B
i I

The mid point c of line AB

E h l

Construct the perpendicular bisector

y y m x x

Y D I Cx h

g I X 4

g x 3

y2 25 2

2gday 2x

dy slopeat
Tx My Eu 5g
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y y m x xD
g th 31g x 3

Sth 31gx 91g

y 31g 251g Ex y 24
5 0

a

Vertical asymptote xt2 o x 2

Horizontal asymptote feign HEI Ling EE EE
kin 4 54 fish
soo

t
laws f jt o

4 4 y
2

g4

fix
O
O potion

muffin and
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b r

vertical asymptote x o

Horizontal asymptote fig tar
limit far hintlaw x Dgo

four o O y

A O

GCD

g O

c

Vertical asymptote x o

Horizontal asymptote figbull txeffitlnlfiyfltfi.gg 1
Lu l O y
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whersection

go.si
I hid
O

gO
FO

d ou

Vertical asymptote taulx has vertical asymp.at tt3u n

Horizontal asymptote None

5T x 2T get X hit

Axl
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ax'tbxtc y at 0,0
G O

Maximum at lo therefore

dy
a

2a tb O at 10,0

b o

ax'tbxtc y at Ct 5
a b c 5 0

a b 5 b O

a 5

i g 5 2

sin II F
sin 1 Iz
cos II II
cos

As tan Sind
cos

tau III E Iz i
Btec

fan fE AE I
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a a

fcxtgcxhlxlfkxlgcxlhlxlthcxlg.CN

ga na h lulsincxD
g'G ExE hex 1

Sink
Cos

f'G a cgs.cm tlacsiucxD2exr

b

g hex

g L'Gtix l h'Cx
2

lex sink hex xt

b'G Cosby h x I

g'Cx cxtllcoscx s.in

2

c
on

l.CN Cos xD hex elk pcle'G 2 where p ell

h'G p Cla b'Cx

h'G 2
00543
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d a

palearctan x as p G 12 1

LG p e p ChGD

L'Cx pch hCx where h e

h G e
e2 1

a
XE C so too

Differentiable on XE C so too 1202

f LEI for
so

fg z eez f
G co forAxeCoste

for co f'G so forAxe too o
Monotonically increasing towards 1 and decreasing from 1
approaching y O which is an asymptote but no minimum

Non differentiablepoint x O

f o e
0 I as fo s fCx7 for FxEC o tan 202

X O is the maximum
b x c 0 too

gCx Luca 2Thefunction is differentiable on XeCosted

FO C gG 21k
X

2 lulx
O D lulx O D X e I

S O C

g 2luCx2_
2

g I 124 21 z Thus we found a
minimum
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c
XE Goo too

for fig arctauCx E
for figarchaea

II assayertotes.az
but not a minimum
or maximum

d
X E I too

Diffoliable ou 1 too

LCH x 1 k

l Iz x D K D x l k s O forthe Ct too
hence the function is moutonically
increasing as such no maximum

D As monotonically increasing x L must betheminimum
as fat fCx for Axe Ci ta
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a

Integration by substitution where ve l tenia

f utdu lulu11 buts luk

b

To sink sink dx f Ci costa sink dx
hseintegration bysubstitution u cosCx

flail du fo'd it du u If
f Is fo Es g

c
standardintegrali

fo e dx f dx sink

Siu x If sin CD sin Co to II

d

If himJ 3k dim 2xY z t him
2

a DO A a DO a a DO an

DThe Integral is divergent
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